

Relations Inverses (J)

Remplissez les espaces blancs.

$2 \times 6 = 12$

$6 \times \underline{\quad} = 12$

$12 \div 6 = \underline{\quad}$

$12 \div \underline{\quad} = 6$

$3 \times 4 = 12$

$4 \times \underline{\quad} = 12$

$12 \div 4 = \underline{\quad}$

$12 \div \underline{\quad} = 4$

$3 \times 2 = 6$

$2 \times 3 = \underline{\quad}$

$\underline{\quad} \div 2 = 3$

$6 \div \underline{\quad} = 2$

$4 \times 4 = 16$

$\underline{\quad} \times 4 = 16$

$16 \div \underline{\quad} = 4$

$\underline{\quad} \div 4 = 4$

$7 \times 8 = 56$

$8 \times 7 = \underline{\quad}$

$56 \div \underline{\quad} = 7$

$56 \div 7 = \underline{\quad}$

$3 \times 3 = 9$

$3 \times \underline{\quad} = 9$

$9 \div 3 = \underline{\quad}$

$9 \div 3 = \underline{\quad}$

$9 \times 5 = 45$

$\underline{\quad} \times 9 = 45$

$45 \div 5 = \underline{\quad}$

$45 \div 9 = \underline{\quad}$

$7 \times 7 = 49$

$7 \times \underline{\quad} = 49$

$49 \div \underline{\quad} = 7$

$\underline{\quad} \div 7 = 7$

$8 \times 5 = 40$

$5 \times 8 = \underline{\quad}$

$\underline{\quad} \div 5 = 8$

$40 \div \underline{\quad} = 5$

$6 \times 7 = 42$

$\underline{\quad} \times 6 = 42$

$42 \div 7 = \underline{\quad}$

$42 \div \underline{\quad} = 7$

$7 \times 9 = 63$

$9 \times \underline{\quad} = 63$

$\underline{\quad} \div 9 = 7$

$\underline{\quad} \div 7 = 9$

$5 \times 2 = 10$

$2 \times 5 = \underline{\quad}$

$\underline{\quad} \div 2 = 5$

$10 \div 5 = \underline{\quad}$

$3 \times 3 = 9$

$\underline{\quad} \times 3 = 9$

$9 \div \underline{\quad} = 3$

$9 \div \underline{\quad} = 3$

$6 \times 9 = 54$

$\underline{\quad} \times 6 = 54$

$54 \div 9 = \underline{\quad}$

$\underline{\quad} \div 6 = 9$

$8 \times 5 = 40$

$5 \times \underline{\quad} = 40$

$40 \div \underline{\quad} = 8$

$40 \div 8 = \underline{\quad}$

$6 \times 2 = 12$

$\underline{\quad} \times 6 = 12$

$12 \div \underline{\quad} = 6$

$\underline{\quad} \div 6 = 2$

$8 \times 8 = 64$

$8 \times \underline{\quad} = 64$

$\underline{\quad} \div 8 = 8$

$64 \div 8 = \underline{\quad}$

$3 \times 4 = 12$

$4 \times 3 = \underline{\quad}$

$12 \div 4 = \underline{\quad}$

$12 \div 3 = \underline{\quad}$

$8 \times 5 = 40$

$5 \times \underline{\quad} = 40$

$40 \div \underline{\quad} = 8$

$40 \div \underline{\quad} = 5$

$3 \times 2 = 6$

$\underline{\quad} \times 3 = 6$

$\underline{\quad} \div 2 = 3$

$\underline{\quad} \div 3 = 2$